—_ _
TH23EE BIMEESFRUEHEAR BEBEAR .. I
NDY 77 rRE DT LIRS ost030
&5 LD Bt 142 211 3fL 4f 56 6H 76 8 hi
700m 5/7 &% WA 3  11.45/-0.8)AH B= 2  11.78/-0.8|50 MR 3  11.83/-0.8|k= s 3  11.86/-0.8|Em Mk 3  11.89/-0.8|m= /&fm 2  11.95/-0.8|#kE fa#% 3  11.98/-0.8| i &2 3  12.07/0.8
R HEEE &R HERE 5= HEEE &R FEL
200m 5/8 |t£8 WA 3 23.42/-1.2|)\Bk ®® 3  23.54/-1.2|F® A2 2  24.02/-1.2]E G 3  24.26/-1 2% Bz 3  24.21/-1.2|@E® LA 2 24.28/-1.2|H0 ik 3  24.75/-2.2|fE= F® 3 25.36/-2.2
R HEEE &R HERE B HEEE &R BE)I|
400m 57 |\ *& 3 52.05lE4 K BT 2 53,468 BAl 2 5376 B o 54.62| %fF &t 3 5%.12|=8 &KX 2 5520 BfE #E 2 56. 12N & 1 57.29
HEEE FEL e FEL 5= FEL HRT FRT
800m 5/8 [lEak BE2 2.02.65| =R BA 2 2.07.08| 8 =& 2 2.07.53| % W& 3 2:00.38| 5 BRIl 2 2.13.34|t@ BN 3 21902 E 2 2:19.68ILE EA 1 2:21.39
FEL HEL 1B HEL e =23 1B HET
1500m 57 |#f H& 3 42814 ER & 2 430 41[1E% At 3 43 4 ER & 1 13491 #HE % 2 436 2@ B 2 43657k ¥ 3 439 44|58 BE 3 446 56
B FRT 5= HEEE &R B &R HEEE
5000m 5/8 |BA WA 3 16:07.03|%a W 3 16:44 26| XM1 ol 3 17:03 14|ER & 2 17:12.17|B% BT 2 1712 84|=f XE 2 1718 2|®%E & 2 174582 BK & 1 17:57.02
e HERE &R FRT &R FEL e HEEE
T10mH 57 |kF R 3 16.41/+0.3
(1. 067m) 1B
400mH 5/8 |%fE &t 3 1:03. 75| B o 104,37 |/l & 1 1:08. 46| kF FIA 2 T11.24| 58 ® 3 1:11.35
(0. 914m) 5= FEL B HERE &R
3000mSC 57 |&a ® 3 10:23. 68| k% st 3 102795 =F AE 2 10:40.33|5@ BE 3 2731kl & 3 1148 97| 2@ BB 2 12:50.43
(914mm) &R HERE B HEEE &R FEL
4x100m 57 |1 M 44 61| mEEE 45, 27| FFEAt 46,16 SART 4693 BZII 46.99] 4L AL 47 41 [HLE 50.52
Tk FE 2 BB R 3 #}BAR & 2 w1 2Nl K# 3 ;e K@ 1 NG wmE 2
57 KFE HA 3 N kE 3 EE 5z 3 BIE HE 2 EE WA 3 ws BE 2 5% R 1
RE G5 3 BE LKIT 2 Al B 2 =k B 2 X $EtL 3 At+@E —E1 2Nl &K 2
HO WA 3 AH &= 2 ek EF2 WA EA 1 BB BE 3 22 3l 1 L &% 2
4x400m 5/8 |BEL 3:38. 00|48 M 3.38.71 | MEEE 3:42.21| &= 346, 14| BART 3:52.98
ERK &EF2 KF #HA 3 BE = 3 XiE #Htt 3 BiE #E 2
Rk ZBa 3 Tk RE 2 I\ k& 3 E& #MHE 3 Be = o1
ZFE EK 2 BO EE 3 BE L 2 E A 3 WE EN 1
%k 1§z 8 iRiE {65 3 % g 3 Al g 2 A % 2
=5 5/8 |H@ et 3 91
1B
HEk 5/1 Bk &L 2 4m00 |1 #hil 3 3m50
1B 1B
R 57 |#@ et 3 Bmb2/+1.5|BH BA 1 Gmis/«2.1|BH & 3 5ni5/+2. 1| B & 3 mb0/+1 9| ER AB 2 End2/+3 3| BA B 2 End1/43.0| NG BE 2 5m2d/+2. 1|88 K@ 1 5m19/+3.3
&R HERE &R HEEE HFER FEL HILg de#til
B 5/8 MM @& 3  1ami6/+0.9| Bk = 3  1Imel/+05%mE HZ 2 1Im69/ 2 0mE —1|B 2 1Imi3/0.6
1B 12 1B HET
A% 5/8 | E% [Gth 3 11m97 | &4 = 3 8md7 £k #1T 3 8m06 /¥ IR 2 6m38 |k D 1 5m21
(6. 000kg) HILg BEII 5= B HILg
MR 5/7 |&m %& 3 0n68| BT BHE 3 28m82[#Ill RA& 2 2ni5| @A R 2 2in07| &0 mA 3 20m29| /NG T 2 17n66
(1. 750kg) HILg g HILg et HET BEII
NoR—1 57 |85 B 3 362 | kB EiT 3 Bl0[HIL FA& 2 12n78
(6. 000kg) HILg B HILg
YR 5/8 |8 RE 2 0m28| Lo ME 3 M54 |/ WMAE 2 36n09|NE TR 2 38| BiE H= 3 3| MEE B2 3n08|IRE Rk 1 3l BIL ER 2 30m64
(0. 800kg) HET g e BEII 5= FRT &R et
“a ® m 18R | St 57| BEI| 44 [ FILE BE | HEEE 36/ |RART 258 | AL 205 |FER 128
%% FS U U ER % M 6675 | BEAL 56| MEEE BE| B e 138 | ®IRT B8 | BER 128
XTIy
SA—ILFBR % M 475 [ FILE S EE 235 |[RBT 128 3L TH|REEE 38| FER 28 |FEL R




—t .
TR23IEE BRIMRESFRESHEERR BLBEXE uw e
NDY 77 rRE DT LIRS ost030
4] [E1=ES B+ 1461 2% 3fi 44 5 fi 6 fif 7 i 8 {if
100m 5/1 |5 %M 3 12.80/-0.6|4H F3 3 13.27/-0.6|8m HZE 2 13.70/-0.6|4&1L 85 3 13.75/-0.6| KE ¥ 2 14.14/-0.6|&AL EBE 1 14.16/-0.6;&mk ik 2 14.28/-0.6[ )\t =& 1 15.12/-0.6
HERE HEE WEEZX HWEEE HIRT FEI HERE BEE
200m 5/8 |Mn #iBA 3 26.41/-1.9|E% F 2 21.22/-1.9|4@ F8 3 27.28/-1.9|#1L FR#F 3 28.56/-1.9|#k@ E& 2 28.99/-2.0| kKB Z=F 3 29.58/-1.9|AIL BB 1 29.78/-2.0[)\# E 1 32.01/-2.0
HERE NGR | 4R HERE HWEEE WEEZX FEI FEd BEE/I
400m 5/1 |[BEl%k % 2 1:02. 41| kA =¥ 3 1:06.90|=F %EH 1 1:08.05|E0;2 W7t 3 1:17.54
HERE FEI WEEE FART
800m 5/8 |&ilE #W|E 3 2:32.02[=F #EA 1 2:39.26[#R X 1 2:42 M@ & 1 2:53.34| g B 1 3:00.94(BmZ #H/TE 3 3:00. 95
HERE HWEEE FEd HEE eIl FART
1500m 5/1 |&# W& 3 5:17.51[/\& Fth 2 5:20.20| AR X 3 5:21.60(@@ &E 3 5:33.76[#MR X 1 5:40. 83
HERE FEI HERE HEE FEd
3000m 5/8 |\ X 2 1:32.10|# x 3 11:34.16| %8 B# 2 11:59.76| @@ #X 3 12:05.58
FEd HEE HERE HEE
100mH 5/1 |&Ho# 3 16.81/-0.6[iE8 XA 2 16.87/-0.6|&#E MHiE 3 17.16/-0. 6|4k RmE 1 17.34/-0.6|F# ZiE 1 20.79/-0.6
(0. 838m) HERE HEE HEEE iG] B5E)
400mH 5/8 |[E#k E 2 1:07.26| &4 M 3 1:07.76|%2 %A 2 1:14. 13| B 2 1:23.97
(0. 762m) LG NGR | == % NGR | #& TR
%7 4%X100m 5/1|% @ 51.00| MEEE 56. 60| &=)II 58.39[dLAfiL 58.65
BEHZOH 3 NGR| HEi#5 HE 3 EEH BEE 1 TH EE 2
Ba FiRR 3 #IL FEER 3 INER X851 gk RER2
BH T 2 %A HEE 2 AN S I i BK 1
5B F¥& 3 “F EA 1 ML Bk = % 3
4%xX400m 5/8 |#& & 42217\ hEEE 4:29.61
Tk E 2 ZF ¥R 1
e FR 3 s HAE 3
BD %A 2 #lL & 3
o BE 3 $#HHE HE 2
EE Bk 5/7 | %% fhfE 1 m50| =4 HEF 3 1m30| P9FE g 2 1m30
HERE ElR ] HERE
EEHE 5/8 |tk EE 1 4m67/-0.5/kE &HE 3 4mb5/+1. 4| KA ¥ 2 4mb0/+1. 3| i=pE T 2 4m35/+0. 2
HERE HEE HET HEE
ARk 5/8 |&kME Fix 3 1ml4| i+t FE 3 Sl MELTE 2 m46 | & #E 3 4m97
(4. 000kg) HERE NGR| #&F HERE HEm
[ZE5 5/1 |%# #ix 3 4img4|E  #E 3 16m73
(1. 000kg) LG NGR |7 ERE
Uk 5/8 |#t BE 3 36md5 /NI Bt 1 0md7|EELTE 2 28m84 (%G BR 2 24m60|E  #E 3 20m77 |/ R 2 17m19
(0. 600kg) HER NGR| EZEJII HERE HLg FER ElR ]
we # [ 160 R | HEEFES 405 | FEI 2m | BEI | deFtil R | #HER 108 |FRT 105 | FHILE 3R
%gﬁ k3w U R # [ 105R | MRS 402 | FEI 2m | BEI 65| FIRT 6| dLAtIL 51
XTIy
T4 —IL R L= 555 | $TEER 104 | ALl 65 | BEI 55 | HIRT 4| FHILE 3m

Rl (NGR: K& #FER)



